Name | Date

10 12 D 13 4
+3 +7 +18 +1 +16
1 14 20 D 13
+11 +5 +0 +14 + 5
2+3= |83+5= 12+7= P
5+1= 6+4= 0+8= 7+1= 0+2=
1 7 10 14 1
+10 +13 +6 +1 +3
16 5 17 15 3
+4 + 11 +0 +3 + 17
B+1= 3+6= 5+5=
D45z 8+0= 82 7= 0+10=
44+6= 249= 1 4 0=

Lebanon School Dismict



12 14 13 | 8 18 15 6 |
+3 £1 |- 28 +12 +1 +5 +14
11 10 0 12 17 15 2
+7 +9 +19 +6 +2 +0 +15
|
- ]
5+12= |11+4= 3+2= 2+6= 2+13=
15+4= |5+2= 11+43= |6+83= 12+1=
_
1.3 5 11 10 3 15 10 |
+3 +7 +8 +.2 + 16 +1 + 10
13 12 11 4 12 16 17
+4 +8 | 42 +10 +1 +0 +1
L |
13+0= 14+ 3= 0+18= 18+ 1=
2+ 13 = 11+0= 10+9 = B+10=
11+0= 1346= |11+5= 1841 =

Numbear correct:

Grade 5/8: Mastery of sums 16 20

1_=panorn School District

out of 100 possible =

o/
/0

(100 probiems in 3 minutes, 20 seconds)
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